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Chemistry
Atomic Properties Worksheet
Fill in the following table:

Atom/Ion
            atomic #
        mass #

 # protons                 #neutrons                 # electrons          # of nucleons

	75Ga
	
	
	
	
	
	

	22Ca
	
	
	
	
	
	

	65Cu
	
	
	
	
	
	

	35Cl
	
	
	
	
	
	

	Sc+3-46
	
	
	
	
	
	

	Cr+6 – 51
	
	
	
	
	
	

	20F –
	
	
	
	
	
	

	9Be+2
	
	
	
	
	
	

	58Mn+7
	
	
	
	
	
	

	16O-2
	
	
	
	
	
	

	Fe+3-56
	
	
	
	
	
	

	80Br – 
	
	
	
	
	
	

	14C-4
	
	
	
	
	
	

	Ca+2-23
	
	
	
	
	
	

	37Cl-
	
	
	
	
	
	


Atomic Mass Practice – Solve using the formula given in class and the 3 step method.

1)  What’s the atomic mass of an unknown element if it has one isotope with a mass # of 48 and a relative abundance of 78.4% and 

another isotope with a mass # of 54 and a relative abundance of 21.6%?
2) What is the atomic mass of an element that has a trace isotope and relative abundance of 3.40% if the element also has two more abundant isotopes with mass #’s of 69 and 80 have relative abundances or 45.4% and 51.2% respectively?   

3) What would the new atomic mass be for carbon if scientists newly estimated it to have changed abundances of its isotopes?  Imagine the C-12 isotope was found to have a new relative abundance of 62.5% and the C-14 isotope was estimated to have a new abundance of 37.5%

